The Invisible Hand, Market failure, Pete Bohmer, 11/7/06
1. Unemployment—more next quarter

2. Question from last week-

Consider the following example.  Assume 1000 people have a very serious and painful disease. Their incomes vary very widely. Assume 1000 doses of a treatment are developed but no more can be developed for many years. Moreover assume if a person who has this disease takes: one dose, there is a 50% probability of being cured; two doses, there is a 60% probability of being cured; three doses, there is a 70% probability of being cured; four doses, 80% probability of being cured; five doses, 90% probability of being cured; ten doses 99% probability of being cured. What would be the market solution, your solution? Why? How many would survive under the different solutions?

Answer—market solution

Top 10% get 10 each, so wealthiest 100 get 10 doses each, 99 are cured

Other 900 are not so total number cured is 99

Equal distribution, one each, 500 people are cured.

Response of pro-market  and private enterprise advocates—market will lead to more produced over time, motivation;
Make income more equal then let market decide, to socially optimal income

2. Unemployment—last week stats, 4.4%--comments, 4 million plus –working part-time, want to work full-time, 4 million plus want a job but not actively looking, together 9 million; officially unemployed around between 6.5-7 million. 

3. For next week get main points of Ch 10,11—follow math if possible;  Problem set—I will try to get it out Friday, may not be ready until Saturday on-line. 

4. Questions on any material from Chapter 9?
Key points for today!
1. Any economy must coordinate millions of decisions, what, how, for whom, P. 201

Two mechanisms—by command, (central planning); or rules, i.e., market

Critique of central planning—a. motivation or incentives;   b. information

Will planners get needed information, will they use it efficiently?
Motivation  of planners?  worker motivation? 

They argue only alternative to central planning is a market system—what about democratic planning—see Hahnel next quarter

2. Markets and the invisible hand 

Argument is that free market price is socially optimum—invisible hand—lead to good outcome, meet needs, use resources well, economizes on scarcity; economic growth

Price represents marginal cost—define marginal cost: additional cost/unity, cost and price are different, so are marginal cost and average cost. In a perfectly competitive situation, firms face price, 

Produce until price = marginal cost, so marginal cost curve is also supply curve, see page 191-192

Diagram:

Draw MC diagram
3. Price also represents value of goods, willingness to pay, maximizing utility. .

Provides information on scarcity

I will use red wine as an example—assume there is one standard red wine, market price of $8 per bottle, study shows red wine is good for you, reduces heart attack, stroke.

Draw demand and supply, short run shift in demand, long run shift in supply
What happens—price initially goes up—people want to consumer more; economize on scarce goods as prices rise; firms produce more, new firms enter—more wine, similar price—invisible hand.

Note: e.g., demand for oil rises or supply falls—as price rises, substitutes become cheaper, demand for SUV’s decline, alternate energies become more profitable.  
Key result of microeconomics—under certain conditions, Market yields the following result;

marginal social benefit = marginal private benefit = price = marginal private cost = marginal social cost

Critique of BER—first more than two alternatives to markets and central planning for coordination, see participatory planning that we will study next quarter

They discuss two types of criticism—coordination failure and market failure—I would not separate them

1. Prisoner’s Dilemma—cooperation is better than individual maximization-

See page 210—individualist solution
Prisoner A says:  if B confesses, better for A to confess—look down first column

                             If B denies guilt, better for A to confess, A gets 1 yr vs. 2
B follows same logic, both get 3 years, rather than 2. Other applications?
Global warming—explain-Kenya meetings
Nuclear weapons? Guns?

Other

2. Tragedy of the Commons

Market Failure
1. Sometimes not called market failure—lack of information—how serious?

Workplace health and safety, health of goods—see NYT on11/6 on health food

2. Monopoly power—price is above marginal cost, consumers don’t necessarily gain from

    reductions in cost, benefits of producing more of good are greater than marginal cost

3. Related to 2, where there are economies of scale or high fixed cost, low marginal cost—marginal cost prices would lead to loss—average cost pricing means underproduction of socially desirable amount.

4. Negative externalities—when production causes additional social costs or there are negative social costs of consumption, --pollution, congestion, global warming
5. Positive externalities—in production or consumption, e.g., research, infectious diseases, education, other?

6. Market responds to given distribution of income and wealth, meets effective demand—neoclassical response is to make income distribution socially desirable and then use market prices, subsidies are wasteful—will lead to overconsumption of goods that are subsidized. This is behind IMF, World Bank arguments, policy pushing  for payments for health, transportation.

7. Does reliance on market solution foster individualism? Remember, ch. 2?

Q. 1. Is market failure the exception or the rule?

Even if the rule, doesn’t necessarily lead to anti-capitalist solutions, or rejection of neoclassical 
economics,

e.g. Possible reformist solutions--Progressive taxation, public utilities, parks, tax and regulations on polluting companies, limit Carbon Dioxide emissions, FDA to provide information,  break up or regulate monopolies (anti-trust), public health, etc. 

